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Q1. Choose the correct answer: 

1) The missing fraction in the following is ____________ 

( 
1

 5
 x 

2

 3
 ) x 

6

 7
 = 

1

 5
 x (      x 

2

 3
 ) 

a) 
1

 5
     b) 

2

 3
     c) 

6

 7
 

   

2) 
8

11
          

8

9
 

 

a) <     b) >     c) = 

 

3) 2  -  
3

4
  = _____ 

 

a) 1  
1
5

     b) 1  
1
4
     c) 16  

  
4) Product of 2 and its reciprocal is – 

a) 2     b) 
1

2
     c) 1  

       

Q2. Solve: 

 

a) 3 
1

4
  +  2 

4

5
 

 

b) 
16

7
  x  2 

1

4
 

 
 P.T.O. 



Q3. Arrange the given fractions in ascending order: 

 

       
2

3
  ,  

4

5
 ,  

8

 15
  ,  

7

20
 

 

Q4. A spider completes his web in 5 hours. What part of the web has he completed in 3 hours? 

Q5. The weight of an object on the moon is 
1

6
 its weight on the Earth. If an object weighs 5 

3

5
 kg on  

       the Earth, how much would it weigh on the moon? 

Q6. In a zoo, the total number of lions and leopards are 100. If  
3

4
  of them are leopards, what is the  

       number of lions?        
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